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These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District, without prior approval of Shawn Pickrell, is prohibited. This is meant to keep question security.

(b)
The discussion or other reference to these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined is prohibited. This is also meant to keep question security.

(c)
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups

1.  Nineteen feet high, the figure's left hand is clenched, and is supposed to represent determination, while his right hand is open, a symbol of compassion.  Rendered in the Classical tradition, what 1915 Daniel Chester French statue looks a bit awkward in his long coat, yet is still an impressive seated portrayal of the Sixteenth President of the United States?

ANSWER:  Abraham _Lincoln_ Statue (accept the statue at the _Lincoln Memorial_)
2.  This word is used informally to describe the psychological disorder NPD, and is the "N" in that acronym. Normally healthy things such as self-esteem and self-confidence are present to excess. What is this term used to describe someone obsessed with her or himself, a term gotten from a figure in Greek mythology that turned into a flower while looking at his reflection in a pool?

ANSWER: _narcissism_ (accept equivalents)

3.  The verb haben [HAH-benn] in German has the same meaning as -- what verb that is avoir [ah-VWAHR] in French and tener [tay-NAIR] in Spanish?

ANSWER: to _have_

4.  After dropping out of college, he went to work for Hewlett-Packard and, in his spare time, worked with other young computer enthusiasts at the Homebrew Computer Club. Name this American computer designer who, along with Steven Jobs, designed and built a prototype of the Apple I computer.

ANSWER:  Stephen _Wozniak_

5.  He was chairman of George W. Bush's re-election effort and has come under fire from Democrats for his interpretations of Virginia election law that might allow Ralph Nader to be on the ballot in November. Who is this Virginia politician and likely 2005 gubernatorial candidate, the Commonwealth's current Attorney General?

ANSWER: Jerry _Kilgore_

6.  THIS IS A COMPUTATION QUESTION. What is the sum of all positive odd integers less than twenty?

ANSWER: _100_

7.  The devil goes by many names in literature. By what name is he known in Washington Irving's "The Devil and Tom Walker" and Stephen Vincent Benet's [ben-AY] "The Devil and Daniel Webster?"

ANSWER: _ Old Scratch _

8.  In the late 1980s, he fused a mixture of Serbian nationalism and hardline Communism to gain the Serbian Presidency, and he fought against the Bosnians and Croats to keep Yugoslavia united and dominated by the Serbs. However, opposition victories in 1996 and 2000 led to his ultimate downfall, and he is currently on trial before the Hague tribunal for war crimes committed in the 1990s. Who is this man who, no matter what his title, was seen as the leader of Yugoslavia for most of the 1990s?

ANSWER: Slobodan _Milesovic_

9.  Phenolphthalein can be used as an indicator of acids and bases. What color is phenolphthalein in an acidic solution?

ANSWER: _blue_

10.  Today, this car company is owned by Volkswagen and makes the Murcielago [moor-chell-LAH-goh] and the relatively less expensive Gallardo. It has also made the Miura, Countach, Jalpa and Diablo vehicles. What is the name of this Italian luxury car company founded in the mid-1960s when its founder took his Ferrari into the factory and was insulted when Enzo Ferrari refused to meet him?

ANSWER: _Lamborghini_ [lam-bor-GHEE-nee]

11.  The intensity of an earthquake is measured by calculating the logarithm of the horizontal amplitude of the largest displacement from zero on a seismogram.  Who created this scale of measurement in 1935?

ANSWER: Charles _Richter_

12.  "The Undefeated" and "Fifty Grand" deal with the courage of an aging man. "A Simple Inquiry" appears to be simple but has a sinister and dramatic undertone. Name the author of these and other stories collected in Men Without Women.

ANSWER: Ernest _ Hemingway _ 

13.  Spell the Greek suffix that is attached to a word to signify a friend or lover of something. 

ANSWER: _P H I L E_

14.  Members of this religion believe that nonliving matter is composed of karman, or very fine particles that bind the soul.  Adherents believe that every living thing has a soul, so some monks wear a covering over their mouths to avoid accidentally swallowing insects.  Which religion follows this concept of ahimsa, and was founded by Mahavira about 2500 years ago?

ANSWER:  _Jainism_ (JAY-in-ism)

15.  His generals Belisarius and Narses expanded his power back into Spain, North Africa and Italy. His marriage to Theodora, a former actress, shook up society. However, his most lasting impact was probably his re-codifying of Roman law into a work called "The Body of Civil Law." Who was this Byzantine Emperor of the 6th century? 

answer: _Justinian_

Second period, 10 directed questions per team

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.  What logical principle attributed to a medieval English philosopher states that a person should not make more assumptions than the minimum needed?

ANSWER:  _Occam's razor_

1B.  Which actor has won three Oscars for his roles in "One Flew Over the Cuckoo's Nest," "Terms of Endearment," and "As Good As It Gets"?

ANSWER:  Jack _Nicholson_

2A.  Mother Shipton, Uncle Billy, the Duchess, and Mr. Oakhurst are all characters in what Bret Harte short story?

ANSWER: _ "The Outcasts of Poker Flat" _

2B.  THIS IS A COMPUTATION QUESTION. The principal nth root of x is negative if what two conditions regarding x and n are true?

ANSWER: _x is negative and n is an odd number_ NOTE: accept in either order

3A.  To measure very small things under the microscope, biologists often use a measurement called a micrometer. One millimeter is equivalent to how many micrometers?

ANSWER: _1000_ micrometers

3B.  What computer company created and produces the Jaz and Zip drives?

ANSWER: _Iomega_

4A.  In what year were 52 hostages released from the US Embassy in Tehran, ending the Iran hostage crisis?

ANSWER: _1981_

4B.  In Arthurian legend, what knight has his head cut off but picks it up and rides away, telling Sir Gawain to find him one year later?

ANSWER: The _ Green _ Knight or _Bergerac_

5A.  THIS IS A COMPUTATION QUESTION. How many degrees are in an interior angle of a regular octagon?

ANSWER: _135_ degrees

5B.  What dynasty was founded in 987 AD and ruled France until 1328, when it ran out of direct male heirs?

ANSWER: _Capetian_ dynasty

6A.  THIS IS A COMPUTATION QUESTION. What is the mode of the set {1, 2, 3, 3, 4, 5, 5, 5, 6}?

ANSWER: _5_

6B.  What name is given to a single part of a chromosome, joined to its sister chromosome at the centromere?

ANSWER: _chromatid_

7A.  It can refer to a European garden plant with fragrant red or yellow flowers in spring or a person whose shyness or unpopularity prevents participation in a social event. What is the word?

ANSWER: _ Wallflower _

7B.  Andre Benjamin and Antwan Patton met while attending high school in Atlanta in the early 1990s and formed the core of what hip-hop duo?

ANSWER: _OutKast_

8A.  The War of the Austrian Succession was fought over what woman attempting to become Empress of Austria?

ANSWER: _Maria Theresa_

8B.  In Shakespeare's _Romeo and Juliet_, what is the name of the man who marries the couple?

ANSWER: _ Friar Laurence _

9A.  Of Virginia's 11 members in the US House of Representatives, how many were Democrats going into the 2004 elections?

ANSWER: _3_ (Rick Boucher, James Moran and Bobby Scott)

9B.  THIS IS A COMPUTATION QUESTION. TWO ANSWERS REQUIRED. Specifying which is which, what are the center and the radius of a circle with formula the quantity X minus 1 squared plus the quantity Y plus 2 squared, equals 3? {(X-1)^2 + (Y+2)^2 = 3}

ANSWER: _center at (1, -2)_ and _radius of the square root of 3_

10A.  The use of what type of figures will show the precision of an instrument?

ANSWER: _significant_ figures

10B.  TWO ANSWERS REQUIRED. What two neighboring states were admitted to the US on the same day -- November 2, 1889?

ANSWER: _North Dakota_ and _South Dakota_

Third period, 15 toss-ups
1.  Sir Thomas North's translation of this second-century Greek's work was the source for Shakespeare's Roman plays and influenced the development of his conception of the tragic hero. Who is the historian most noted for his series of pairs of biographies of famous Greeks and Romans, _Parallel Lives_? 

ANSWER: _ Plutarch _ (plu-tark)

2.  These responses are involuntary, as when one jerks away from a pinprick. The time it takes for one of these to occur is called "reaction time." What are these automatic responses called?

ANSWER: _reflexes_

3.  It was passed in 1890, but largely ignored until about ten years later, when Presidents Roosevelt and Taft began a campaign of vigorous enforcement. It was strengthened and clarified by the Clayton Act of 1914. What was this law that was passed to break up the monopolies of the late 19th century?

ANSWER: _Sherman Anti-Trust_ Act

4.  Channel 19 is usually used to make initial contact, and then the users switch to another channel. Channel 9 is the emergency channel, and other channels have obtained customary uses over the years. Ten-codes, such as 10-4 [ten-four] are used in what form of communication which, at least in the US, has largely been replaced by the Internet?

ANSWER: _CB_ or _citizens' band_ radio

5.  It was measured in 1798 by an apparatus developed by Henry Cavendish.  Its accepted value is approximately 6.673 times 10 to the minus 11 newtons times square meters per square kilograms.  Name this constant represented by an uppercase G.

ANSWER: universal _gravitational_ constant (prompt on "gravity")

6.  This piece of cartilage extends upwards behind the back of the tongue and down through the hyoid bone, which moves the larynx. What is this piece of cartilage whose function is to prevent food from going down into the trachea?

answer: _epiglottis_

7.  This state did not abolish Prohibition until 1966, and did not abolish slavery formally until 1995. What is this state which includes the Yazoo Delta region and whose cities include Hattiesburg, Biloxi and its capital, Jackson?

ANSWER: _Mississippi_

8.  This name describes the white space around text or illustrations in a book or a research paper. What term is also used by stockbrokers to describe the practice of buying stocks by only paying a part of the stock's value and borrowing the rest?

ANSWER: _margin_

9.  Pastora Imperio and Carmen Amaya were two masters of the dance form.  Originating in India, it became the traditional music and dance style of Andalusia in southern Spain.  Usually accompanied by a guitar and the "cante grande," identify this Spanish dance that features hand clapping and intricate toe and heel clicking.

ANSWER:  _flamenco_

10.  In the sentence "My father changed jobs this spring; therefore, we will not be going on vacation," the word _therefore_ is what type of adverb that connects independent clauses?

ANSWER: _Conjunctive_ adverb

11.  The Green River is the best-known tributary of this river that separates Baja California from the rest of Mexico. The Black and Marble Canyons are carved by its running waters. What is this river that also forms the Grand Canyon? 

ANSWER: _Colorado_ River

12.  Ice-age Lake Bonneville was a much larger version of what modern lake, located in the western United States and known for its high salinity?

ANSWER: _Great Salt Lake_

13.  Her death brought about major constitutional change in Rome.  Appius Claudius, a tyrant in charge at the time, attempted to claim this daughter of a centurion as his slave, so her father stabbed her in the heart to avoid having her dishonored.  Name this girl who by dying sparked a revolt that ousted Claudius, and shares her name with the state in which you are playing this match.

ANSWER:  _Virginia_

14.  THIS IS A COMPUTATION QUESTION. What is the particular name for a 7-sided polygon?

ANSWER: _heptagon_ (accept septagon) NOTE: NOT a "hexagon"

15.  One of his works is about the state of Colorado, one is about Israel, one is an epic fictional journey through the history of South Africa, and one celebrates America's fiftieth state. Who is this author of Centennial, The Source, The Covenant,  and Alaska?

ANSWER: James Albert _ Michener _ (mish-uh-ner)

Spare questions 
(Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  The high boiling point of water is due to -- what type of chemical bond that exists between two charges of opposite polarity, and which always involves an atom of the same name as the bond?

ANSWER: _hydrogen_ bonds

2.  THIS IS A COMPUTATION QUESTION. f of x equals the absolute value of x in the numerator and x in the denominator {f(x) = |x|/x}.  What is the range of f of x?

ANSWER: Y is an element of the reals _equal to -1 or 1_ {y E {-1, 1}} (accept equivalents)

3.  Between 1966 and 1970, he instituted Virginia's first sales tax. Between 1974 and 1978, this time as a Republican, he reinstituted the death penalty. Who is the only Virginia Governor elected twice by popular vote, once as a member of each party, and for whom a Henrico County high school is named?

ANSWER: Mills _Godwin_ (Note: the Virginia Constitution allows someone to serve NON-CONSECUTIVE terms as governor.)

4.  In July, the US declared The "Continuity" branch of this European organization a terrorist organization, joining the "Real" branch in that category. Both the "Continuity" and "Real" branches split off from the "Provisional" branch, which stopped paramilitary operations after the Belfast Good Friday Agreement of 1998. What is this organization that seeks to reunite Ireland and Northern Ireland?

ANSWER: _Irish Republican Army_ or _IRA_

5.  In this novel, Adela Quested, a visiting Englishwoman,  accuses the well-respected Dr. Aziz of attacking her during an outing. During the trial, Adela hesitates on the witness stand and then withdraws the charges. What is this work portraying the relationship between the British and the Indians in India, written by E.M. Forster?

ANSWER:  A _ _Passage to India_ _ 

All questions ©2004 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

